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R AR R LR R

(HAL . TH, %)
Rk 3 0 4R R 2 9 O A TR
o AR Rk bt AR HERR L (A)-(B) (C)/(B)
(A) (B) (C) X100
L. B #/ B &R B B 1,208, 939 23.7 1, 246, 421 20. 1 A37,482 A3.0
2. — s = #H 4 - - - - - -
3. ff OB RO F BB - - - - - -
4. JiE * H 4 38 0.0 1, 238, 562 20.0 A1, 238,474 A100.0
5. IR x H 4 3, 300, 773 64.7 360, 252 5.8 2,940, 521 816. 2
6. PE I A - - - - - -
7. A 4 353, 509 6.9 655, 333 10. 6 A301, 824 A16.1
8. fi i & 231, 317 4.5 181, 758 2.9 49, 559 27.3
9. & 1% N 11, 887 0.2 24, 233 4 A12 346 A50.9
X, & B RN & - - 77,679 1.2 AT77,679 R
.8 M oE B EFE R & - - 1, 110, 680 17.9 A1,110, 680 LR
x, &k H O F ¥ T F & - - 1, 307, 583 21.1 A1,307,583 o
% A & H 5,106, 513 100. 0 6, 202, 501 100. 0 A1, 095,988 A17.7
H) (HAL - TH, %)
SR 3 O SR 2 9 b5 HECR
o K| i qza HAE HERR HE (A)-(B) (C)/(B)
(A) (B) (C) X 100
1. % % 77, 630 1.6 76, 377 1.3 1,253 1.6
2. e fF # 3,221, 737 68. 3 3, 213, 600 56. 0 8, 137 0.3
3. B BB R ORI R B WA 1, 285, 042 27.3 - - 1, 285, 042 Hp
4. I 1 0.0 1, 362, 363 23.7 A1, 362,362 A100.0
5. o ¥ % 44,972 1.0 39, 965 0.7 5, 007 12.5
6. T 3T & 7,044 0.1 - - 7,044 Eep
7. & oy - - - - - -
8. H 4 79, 868 1.7 56, 362 1.0 23, 506 41.7
9. fif % - - - - -
X, X eE - - 681, 741 11.9 AG81, 741 Eeggg
X FOW AT & % - - 2,576 0.1 A2, 576 R
X, S N s < - - 15 .0 Al5 TR
X i £+ & - - 306, 185 5.3 A 306, 185 R
& F 4,716, 294 100. 0 5,739, 184 100. 0 A1, 022,890 A17.8




